(CEREERZHBEEFICE T2 BOERGEEDEZEHICEAT HIINZIHREEDEET D —ERET
EDBE)
REEKA STEDAR STEDIER
IZA
|5 H
# TERIR K% 5,000,000 B | \
o o |rErzsrstezness B2 6,000,000 [ |EPBEN
FUERFRIEERITEESR Bl 6,000,000 M
[B| TEEE R BESHRREXE 3 LI = 12,000,000 M
| TBETRIEESBRBREXE 3 RXE i 7,000,000 M
3 HEEDEF
Xt
|5 RKin& 4,269,060 H
EAN & |F O ¥=E-=1 4,521,060 M
(F1ED) g SmE5t 27,913,942 M
# S EEt 28,165,942 H
|5 & 27,913,942 H
# g 28,165,942 H i e
H \
=
|5 HE - H
9] HE 417,176 H
|5 S EIE 347,331 H
S | S 764,507 3
|5 AIEIET 27,913,942 H
9] AIEIET 28,165,942 H
|5 s 28,261,273 H
9] #eF 28,930,449 H




RFEKA STEQOAR STEEDIER
IR A
I M
H| sRT R ESERBERE=TE g 518,101 H
I SEEH 0 M
i SEE 518,101
sxn = |8 s 20,820,000 F9
(B3ET) |45 s 21,338,101
X H
I IE st 28,261,273
i BTE 5t 28,930, 449 Y
I w3 28,685,069 M |:TEosme
# 03 29,354,235 @ | H27=1=H
IR A
I IE st 20,820,000 FY
% BT 5t 21,338,101 9
I s 20,820,000 F9
en) B |5 w3 21,338,101 9
(B 4ME%) % H
I IE st 28,685,059 Y
i BTE 5t 29,354,235 Y
I s 28,981,305 FY
i w3 29, 650, 481 FY




